" —ILhD v TR ER
fERIRES

b H H

rat

= B . SHOEETRAI7IVNESYERSRE
£ 5 Fr: —
B Y EHR . BNEPIIFIVSESWAO3I)
PAI7PI D ETPR TPV TR
SH6E2H

J |

NRYIX(RR)




R —ILSYF D T AHRERRSE

1. TSEHE

I EF %

I F 15
B A Y E

FER7RAT7IVE

B R

SHO6EETFRI7INEESYELEERE
BRIEFRAI7IVNEAY(13)
WEFPRI7IVN TR

+f6 £ 2 B 16 H

2. KM=V VF D THBRER
RA— VNSV H T HRBERIE. £ 1TRTEBYTH B,

"1 M= SvF I HRER

FRIPIVNE 5.9%  EEHE 2363 g/cm’

No BE WEOE | ERZEFE |NTEE
1 (g/cm?) (%) (mm) ([El/mm)
T 2.364 100.0 0.63 1910
2 2.361 99.9 0.91 2330
3 2.372 100.4 0.85 2030
15 2.366 100.1 0.80 2100
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HBERE SMeE 28 16 B
# B oE w1 Bk
=g =l TRA—IVRS YD THER n
SREMOES ERIETZ I 7 IVSESH(13)
RAMOEETE 2.363 (g/cm?)
INA U DIESE BRI 7IVNT B
FRI7IVE : 5.9 (%)
papormen  Q.EN 2B 3. RBUN B C,=1.0
SBRRME LHEE 686 N BT 0.63 MPa
HBEE 60 C FTEH 2520
e (.05 2. 71— BEFE C=1.0
fHEAADNO. 1 2 3 19
DR DB (a/cm?) | 2.364| 2.361| 2.372| 2.366
QUKD FHEDHE (%) 100.0| 99.9| 100.4| 100.1
® dso 1.25|  1.49| 1.48
Z 8 (mm) @  dus 1.62| 172 1.78
® deo 1.95| 1.99| 2.09
OLEHBNE 6-@ 0.33| 0.27| 0.31|®@ 0.30
ORRER(DS) | ps=15x42:CixCo/ | 1910|  2330| 2030
(B,/mm) ©
OHIEHIRTERE (DS) | DS =15%42%C%C.,/ 9 2100
(B,/mm) @
OTEEDEDTS (9-®)2 36100 52900 4900
Ot fR= S=(z@/n-1)"? @ 217
QLB (%) 0/Q 10.3
ERTE (%) do 0.63| 0.91] 0.85] 0.80
B — ZTY R RO EER | ERE | EeR
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SAERBFRS [42] DO DS RD
PSRN, 0 ‘ 5 104 16 | 30 | 45 | 60 rml | [E/mm] | /4
No. 1 0.00 0.40 0.60 0.78 0.93 1.25 1.62 1.95 0.63 1910.0 0.0220
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A BRRERE [ 4] DO DS RD
B fANo. 0 ‘ 5 101 15 f 30 | 45 | 60 tml | [E/mm | w4
No. 3 0.00 0.55 0.78 0.97 1.13 1.48 1.78 2.09 0.85 2030.0 0. 0207
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